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1 https://www.austrian-standards.at/de/standardisierung/komitees-arbeitsgruppen/nationale-

komitees/committees/870/details 
2 https://www.baubook.at/oekoindex/ 

https://www.austrian-standards.at/de/standardisierung/komitees-arbeitsgruppen/nationale-komitees/committees/870/details
https://www.austrian-standards.at/de/standardisierung/komitees-arbeitsgruppen/nationale-komitees/committees/870/details
https://www.baubook.at/oekoindex/
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3 https://www.ibo.at/materialoekologie/lebenszyklusanalysen/ibo-richtwerte-fuer-baumaterialien 
4 https://www.bau-epd.at/ 
5 https://www.baubook.info/de/kennwerte/richtwerte 
6 https://ecoinvent.org/ 

https://www.ibo.at/materialoekologie/lebenszyklusanalysen/ibo-richtwerte-fuer-baumaterialien
https://www.bau-epd.at/
https://www.baubook.info/de/kennwerte/richtwerte
https://ecoinvent.org/
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OI3KON,BGX =
1

3
∗ OIPENRT,BGX +

1

3
∗ OIGWP.BGX +

1

3
∗ OIAP,BGX

• 

• 

• 

• 

• 

 

∆OI3 =
1

3
∙ [

0,1

MJ
PERNTA1−A3 +

0,5

kgCO2äquiv.
GWPTotal,A1−A3 +

400

kgSO2äquiv.
APA1−A3]
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7 https://www.ibo.at/forschung/referenzprojekte/data/heroes 

https://www.ibo.at/forschung/referenzprojekte/data/heroes
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OI3BGX =
∑ Ai ∙ OI3KON,BGX,i

N
i=1

∑ Ai
N
i=1

KOF = ∑ Ai

N

i=1
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OI3BGX,lc =
3 ∗ OI3BGX

2 + lc

 

OI3BGX =
∑ Ai ∙ OI3KON,BGX,i

N
i=1

BGF

 



 IBO  

 

 

 

OI3BGX,BZF,ND =
1

3
[
0,1m2

MJ
(

PERNTBGX,A1−A3,B4

BZF
) +

0,5m2

kgCO2äquiv.
(

GWPTotal,BGX,A1−A3,B4

BZF
)

+
400m2

kgSO2äquiv.
(

APBGX,A1−A3,B4

BZF
)]



 IBO  

 

 

PENRTBS,A1−A3,B4 = PENRTBS,A1−A3 + Aufrunden [
tB − 1

tN
− 1] ∗ PENRTBS,A1−A3

 

GWPfossil,BS,A1−A3,B4 = GWPfossil,BS,A1−A3 + Aufrunden [
tB − 1

tN
− 1] ∗ GWPfossil,BS,A1−A3

GWPbiogen,BS,A1−A3,B4 = GWPbiogen,BS,A1−A3 + 0

GWPTotal,BS,A1−A3,B4 = GWPfossil,BS,A1−A3,B4 + GWPbiogen,BS,A1−A3,B4
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APBS,A1−A3,B4 = APBS,A1−A3 + Aufrunden [
tB − 1

tN
− 1] ∗ APBS,A1−A3

 

 

OI3BGX,BZF,LZ =
1

3
[
0,1m2

MJ
(

PERNTBGX,LZ

BZF
) +

0,5m2

kgCO2äquiv.
(

GWPTotal,BGX,LZ

BZF
) +

400m2

kgSO2äquiv.
(

APBGX,LZ

BZF
)] 



 IBO  

 

 

PENRTBS,LZ = PENRTBS,A1−A3 + PENRTBS,B4 + PENRTges,BS,C1−C4

PENRTBS,B4 = Aufrunden [
tB − 1

tN
− 1] ∗ PENRTBS,A1−A3

PENRTges,BS,C1−C4 = Aufrunden [
tB − 1

tN
] ∗ PENRTBS,C1−C4

 

GWPTotal,BS,LZ = GWPfossil,BS,A1−A3 + GWPfossil,BS,B4 + GWPges,fossil,BS,C1−C4

GWPfossil,BS,B4 = Aufrunden [
tB − 1

tN
− 1] ∗ GWPfossil,BS,A1−A3

GWPges,fossil,BS,C1−C4 = Aufrunden [
tB − 1

tN
] ∗ GWPfossil,BS,C1−C4

GWPSpeicher,BS = GWPbiogen.BS,A1−A3



 IBO  

 

 

APBS,LZ = APBS,A1−A3 + APBS,B4 + APges,BS,C1−C4

APBS,B4 = Aufrunden [
tB − 1

tN
− 1] ∗ APBS,A1−A3

APges,BS,C1−C4 = Aufrunden [
tB − 1

tN
] ∗ APBS,C1−C4
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PENRTS,BS,BGX/m2 = PENRTS,BS,A1−A3/m2

APS,BS,BGX/m2 = APS,BS,A1−A3/m2

PENRTS,BS,BGX/m2 = 0,75 ∗ (1 −
tA,BS−5

75
) ∗ PENRTS,BS,A1−A3/m2 + 0,25 ∗ PENRTS,BS,A1−A3/m2

APS,BS,BGX/m2 = 0,75 ∗ (1 −
tA,BS−5

75
) ∗ APS,BS,A1−A3/m2 + 0,25 ∗ APS,BS,A1−A3/m2

PENRTS,BS,BGX/m2 = 0,25 ∗ PENRTS,BS,A1−A3/m2

APS,BS,BGX/m2 = 0,25 ∗ APS,BS,A1−A3/m2

 

GWPTotal,S,BS,BGX/m2 = GWPTotal,BS,A1−A3/m2

GWPTotal,S,BS,BGX/m2 = 0,75 ∗ (1 −
tA,BS − 5

75
) ∗ GWPTotal,BS,A1−A3/m2

GWPTotal,S,BS,BGX/m2 = 0



 IBO  

 

 

OI3SKON,BGX =
1

3
∗ OIPENRT,BGX +

1

3
∗ OIGWP,BGX +

1

3
∗ OIAP,BGX

 

 

OI3SBGX,BZF =
1

3
[
0,1m2

MJ
(

PERNTS,BGX,A1−A3,B4

BZF
) +

0,5m2

kgCO2äquiv.
(

GWPTotal,S,BGX,A1−A3,B4

BZF
)

+
400m2

kgSO2äquiv.
(

APS,BGX,A1−A3,B4

BZF
)] 
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PENRTS,BS,A1−A3,B4 = A(tA, tB, tN) ∗ PENRTBS,A1−A3 + Aufrunden [
tB − 1

tN
− 1] ∗ PENRTBS,A1−A3

 

GWPTotal,S,BS,A1−A3,B4 =

A(tA, tB, tN) ∗ GWPfossil,BS + Aufrunden [
tB − 1

tN
− 1] ∗ GWPfossil,BS + S(tA, tB) ∗ GWPbiogen,BS
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APS,BS,A1−A3,B4 = A(tA, tB, tN) ∗ APBS,A1−A3 + Aufrunden [
tB − 1

tN
− 1] ∗ APBS,A1−A3

 

OI3SBGX,LZ =
1

3
[
0,1m2

MJ
(

PERNTS,BGX,LZ

BZF
) +

0,5m2

kgCO2äquiv.
(

GWPTotal,S,BGX,LZ

BZF
) +

400m2

kgSO2äquiv.
(

APS,BGX,LZ

BZF
)]
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PENRTS,BS,LZ = PENRTS,BS,A1−A3 + PENRTS,BS,B4 + PENRTS,ges,BS,C1−C4

PENRTS,BS,A1−A3 = A(tA, tB, tN) ∗ PENRTBS,A1−A3

PENRTS,BS,B4 = Aufrunden [
tB − 1

tN
− 1] ∗ PENRTBS,A1−A3

PENRTS,ges,BS,C1−C4 = Aufrunden [
tB − 1

tN
] ∗ PENRTBS,C1−C4

 

GWPTotal,S,BS,LZ = GWPfossil,S,BS,A1−A3 + GWPfossil,S,BS,B4 + GWPfossil,S,ges,BS,C1−C4

GWPfossil,S,BS,A1−A3 = A(tA, tB, tN) ∗ GWPfossil,BS,A1−A3

GWPfossil,S,BS,B4 = Aufrunden [
tB − 1

tN
− 1] ∗ GWPfossil,BS,A1−A3

GWPfossil,S,ges,BS,C1−C4 = Aufrunden [
tB − 1

tN
] ∗ GWPfossil,BS,C1−C4

GWPSpeicher,S,BS = GWPbiogen,BS,A1−A3



 IBO  

 

. 

 

APS,BS,LZ = APS,BS,A1−A3 + APS,BS,B4 + APS,ges,BS,C1−C4

APS,BS,A1−A3 = A(tA, tB, tN) ∗ APBS,A1−A3

APS,BS,B4 = Aufrunden [
tB − 1

tN
− 1] ∗ APBS,A1−A3

APS,ges,BS,C1−C4 = Aufrunden [
tB − 1

tN
] ∗ APBS,C1−C4



 IBO  

 

 

 

GWPTotal,BS,LZP = GWPbiogen,BS,LZP + GWPfossil,BS,LZP

 

GWPTotal,BS,A1−A3 = GWPbiogen,BS,A1−A3 + GWPfossil,BS,A1−A3

GWPTotal,BGX,A1−A3 = ∑ GWPTotal,BS,A1−A3

über alle BS der BGX

 

GWPTotal,BGX,A1−A3,BZF =
GWPTotal,BGX,A1−A3

BZF
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GWPTotal,BS,A4 = GWPfossil,BS,A4

GWPTotal,BGX,A4 = ∑ GWPTotal,BS,A4

über alle BS der BGX

 

GWPTotal,BGX,A4,BZF =
GWPTotal,BGX,A4

BZF
 

 

GWPTotal,BS,B4 = Aufrunden [
tB − 1

tN
− 1] ∗ (GWPfossil,BS,A1−A3 + GWPTotal,BS,A4)

GWPTotal,BGX,B4 = ∑ GWPTotal,BS,B4

über alle BS der BGX

GWPTotal,BGX,B4,BZF =
GWPTotal,BGX,B4

BZF



 IBO  

 

 

GWPTotal,BS,C1−C4 = Aufrunden [
tB − 1

tN
] ∗ GWPfossil,BS,C1−C4

GWPTotal,BGX,C1−C4 = ∑ GWPTotal,BS,C1−C4

über alle BS der BGX

 

GWPTotal,BGX,C1−C4,BZF =
GWPTotal,BGX,C1−C4

BZF
 

 

 

GWPTotal,BGX,A1−A3,B4,BZF = GWPTotal,BGX,A1−A3,BZF + GWPTotal,BGX,B4,BZF
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GWPTotal,BGX,LZ,BZF = GWPTotal,BGX,A1−A3,BZF + GWPfossil,BGX,B4,BZF + GWPTotal,BGX,C1−C4,BZF

GWPSpeicher,BGX,BZF = GWPbiogen,BGX,A1−A3,BZF

 

GWPEU−Tax = GWPTotal,BG6,A1−A3,BGF + GWPfossil,BG6,A4,BGF + GWPfossil,BG6,B4,BGF +

GWPTotal,BG6,B6,BGF + GWPTotal,BG6,C1−C4,BGF



 IBO  

 

 

 



 IBO  

 

 



 IBO  

 

 

 



 IBO  

 

 

 



 IBO  

 

 



 IBO  

 

 



 IBO  

 

 

https://www.bau-epd.at/oesterreich
https://www.bau-epd.at/oesterreich
http://www.baubook.at/
https://www.baubook.info/de/richtwerte/umweltproduktdeklarationen
https://nachhaltigwirtschaften.at/de/sdz/projekte/heroes-haeuser-fuer-energie-und-ressourceneffiziente-siedlungen.php
https://nachhaltigwirtschaften.at/de/sdz/projekte/heroes-haeuser-fuer-energie-und-ressourceneffiziente-siedlungen.php
https://www.ibo.at/materialoekologie/lebenszyklusanalysen/ibo-richtwerte-fuer-baumaterialien
https://www.ibo.at/materialoekologie/lebenszyklusanalysen/ibo-richtwerte-fuer-baumaterialien
https://www.ibo.at/materialoekologie/lebenszyklusanalysen/ei-entsorgungsindikator
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